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解 答 

１．小数のかけ算・わり算（暗算） 

（１） ０.２８ 

（５） ０.０８ 

（９） ２０ 

（13） ６ 

（17） ８０ 

（２）  ３５０ 

（６） ０.２４ 

（10） ３０ 

（14） ８ 

（18） ８０ 

（３）  ０.４ 

（７） ０.０１２ 

（11） ３００ 

（15） ８ 

（19） ０.３ 

（４）  ２.４ 

（８） ０.０００６ 

（12） ４００ 

（16） ７ 

（20） ０.５ 

２．小数のかけ算（筆算） 

（１） １３.８         

（５） ７２０  

（９） １.５９ 

（13） ０.９７２ 

（17） ０.０５６ 

（２）  １３５ 

（６） ４５０  

（10） １２.４７ 

（14） ５.７２ 

（18） ４.８５７６ 

（３）  ７.２２ 

（７） ４５００  

（11） １３.５ 

（15） １４.８４１ 

（19） １.５１２ 

（４）  ３１９.８ 

（８） ２７３６   

（12） ２４.６５ 

（16） １.４４ 

（20） ２０.６１９５ 

３．小数のわり算（筆算） 

（１） ２.８ 

（５） ９.５ 

（９） ２５ 

（13） ６.９ 

（２）  １.３  

（６） ７.２  

（10） １９.６ 

（14） ５.６ 

（３）  １.５７ 

（７） ６.２５  

（11） ２５  

（15） ６７.５ 

（４）  １.０５ 

（８） ９.３６   

（12） ８４０ 

（16） ７.５ 

４．計算の順序 

（１）  １.６＋１.４×２ 

   ＝ １.６＋２.８ 

      ＝ ４.４ 

（２）  １２－８×０.３ 

   ＝ １２－２.４ 

      ＝ ９.６ 

（３）  １２.５－３.５÷７ 

   ＝ １２.５－０.５ 

      ＝ １２ 

（４）  ２.４÷０.３＋０.２ 

   ＝ ８＋０.２ 

      ＝ ８.２ 

（５）  ２０÷５－０.３×５ 

   ＝ ４－１.５ 

      ＝ ２.５ 

（６）  １.６×３＋１.４÷７ 

   ＝ ４.８＋０.２ 

      ＝ ５ 

（７）  １.２×３＋１.４÷０.７ 

   ＝ ３.６＋２ 

      ＝ ５.６ 

 

（８）  ６×(９.５－８.９) 

   ＝ ６×０.６ 

      ＝ ３.６ 

 

（９）  ９＋０.４×(１０－６) 

   ＝ ９＋０.４×４ 

      ＝ ９＋１.６ 

      ＝ １０.６ 

（10）  ２.３＋(１２－６)÷３ 

   ＝ ２.３＋６÷３ 

      ＝ ２.３＋２ 

      ＝ ４.３ 

（11）  (４.８÷６＋３)÷２  

   ＝ (０.８＋３)÷２ 

      ＝ ３.８÷２ 

      ＝ １.９ 

（12）  (２.７＋３×０.９)÷６ 

   ＝ (２.７＋２.７)÷６ 

      ＝ ５.４÷６ 

      ＝ ０.９ 

（13）  ５×２.８×２   

   ＝ １０×２.８ 

      ＝ ２８ 

（14）  ２×７.４×０.５ 

   ＝ １×７.４ 

      ＝ ７.４ 

（15）  ５.３×２.５×４ 

   ＝ ５.３×１０ 

      ＝ ５３ 

５．分数のたし算とひき算 

 （１） 
１８

１９
 または 

１８

１
１  （２） 

９

１１
 または 

９

２
１  （３） 

２０

２９
 または 

２０

９
１  （４） 

８

１９
 または 

８

３
２  

 （５） 
２

１
 （６） 

４５

１４
 （７） 

１５

１
 （８） 

１５

３８
 または 

１５

８
２  

 （９） 
１２
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 （13） 
１２

１
 （14） 
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１
１  （15） 
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１
 （16） １ 


